S4EE

BEEAAREFIE

REHEHE

fM4F4HA11H

REEHEAXGRESESR



EE
i

T = # B B
TEZ SMAEERSESIIREFTIE
& H- T 785 - M5 - B | %S| BEM) | S| ]

LRSS _— 1 §
 EEHRET

 $A% (STK400 ¢ 3185 L=8m t=6.9) AvFiL
$HE (STKA00 ¢318.5 L=9m 1=6.9) AvF 1L
$B% (STK400 ¢318.5 L=10m t=6. 9) AyAHL

& (STKA00 ¢318.5 L=11m t=10.3) AvF¥&HY|

lain

— —|FERITONTIE
| ARRE AR
EE&"EHE(D}:

3| P 3t 3t

 BAE (STK400 ¢3185 L=12m t=10.3) Av¥ &Y
§A% (STKA00 ¢ 267.4 L=6m t=9.3) AvF 7L

 $A% (STKA00 ¢267.4 L=8m t=9.3) AyF4L
 $AE (STKA00 ¢267.4 L=9m t=9.3) Av3+dY
§R% (STK400 $267.4 L=11m t=9.3) Ay ¥ &Y |
- NqTaRIL—+
MEMMTRE ¢3185mm
RENMBFEE 62674mm
MEMAEL ¢3185mm L=8m~12m
MEMBEIL ) 267.4mm L=6m~11m
MERGHERET
SMEMMI 3185 (HBERBELE 4m/F)
 HEMINT ¢2674(AEERAZE 34n/%)
HEnE L ER
WEMBET
ﬁ&ﬁ#ﬁkiﬁ(PHcm
PHCHL#Z
PHCHUE LB
 PHCHLEREL . EIS EEFEE
EEARET
BEAT (=311 Sya% #f1)
BT & EEUE
REATER{S T

'L&IEEJ

=l =lw =|alainmin

3 5% | PE O P ’H‘

[olnlow]|
| | |

=)

!l —t

lco!co o

%%%Mﬂﬂa

|
|
[

.H.

ym%'

3

@
—h
g
o

"mhﬂml‘

KERER

[ - B AEE

RAE
ERE
M- REMERE

REeH -
- REEHR
HBREE
HEREEER
HIEE
REEE®
TER®
—REEE
TElH ) i
HEME % 10

1%

" .

|

op




ogx |1 |5 [1 s _ e o |e | 81| (¥ |
WL HEEHOTINS 0 EW EZEYW [T |5 [0 |0 |0 |0 |0 [® 128 s01 o818 (Bix) WE
23 RS HOWNXUG0seF W U HELTEL [0 |0 I ¢ |2 |0 |0 [(¥)1{E869=3 S8IEP (W r) WEHE
ZEWELHE RS HOTYIUS 0 HY OBEZEYW | 0 T 0 € 0 0 0 () 128 €'6=1 7192 9 (Bix) 1B s
DNCANFWWEMX|0 (0 |0 |0 [T |0 [€ (461 71929 (3r~) W LdEle=N T
(WO TL+w0'6)WT + 2L [ 0°07 I 1 00z | £0T'6'9=% |S'81E® |WEH| 00C 001~ 001 00 0°01 £02 £02 __ 20z | 6
(WO T1+u0'6)WT + 1L | 0°02 1 1 00z | €01'6'9=) |g'81ed [WEHE| 002 001~ | 001 00 001 62¢ | 628 sz | s
(o TT+wo 8YY T + WL | 0°61 I _ I 061 £6=1 |¥'.929 |WEH| 061 06~ 56 g0 | 00 v %y | 2
WogT+wo'ODWT +Wd | 05z |1 - 072 | €0T'6'9=) |5'81ed |MEM| 0722 0%~ | 0TI 01~ 001 | ¥ | (@01 | &012 | 9
Q8 Drgy (WO TT+uo )T+ | 061 T T 0'61 €01°6'9=1 |G'8IE?P | BN 06T 0'6- g6 g0 0°01 IR (1)80% £807 S
(WO 6+WO )T+ | 0°ST T 1 0°ST £'6=1 ¥'L9T 9 _ﬁmq_@ 0t 0'8- S'L _ 60— 0L e g (£)L02 4102 i4
(WO 6+Wo 9y T + 1 | 0°GT T I 0°ST £'6=1 $°192¢ | W.E M 0°ST 0'8- gL . S0- 0L el i (€)L02 £07 €
(W0"6+W0 9T + 1 | 0°GT 1 T |ost £6=1 |¥'.929 [WEHEs| oI 08~ ) 50~ 0L P | ez | &0z | g
(WO TT+WO'gYWT + 1L | 0°61 T 1 061 | €0I'6'9=3 |98IEP |WBUE| 06T 06- | 96 g0 001 a8 4% 17 |1
@ | |%|%|=|%|%|x|wsy my |38 ¥ |0-00ECE _n®+@“@ ® © |e2w |smew | wesamn
= 4 Hy  |wo-gr eo.:so.e_eo.m wQ'g | wo'L | Wo'g MW MV A% %wuaomﬁ A_M ON
TR BB MR
W5l (W) ZFME WH 3 AR

(T 2R WEH05)
HETHEREBRSEY FHe

EFXWERDRE W&




